1 2
2 j 2
3 |M3#L 4
4 |LED¥ =4
5 ¥ 2
& -z 5
7 |ns 2
B |W3# 4
9 L 1
10 1
11 =0 3
12 1
13 |EY-DI 1
14 1
13 ! 0J-8631 1
16 | A0 Mt 1
17 fe10 1
18 2
19 | 1
20 | 2

§90555802BK—E2
$90555802CH-E2

10
11
12
13
14
15
16

17
18
19
20

Acrylic lampshade

diffuser

M3 screw

PCB

Lampshade out ring

M3 screw

swival

M3 screw

Plate

base

210 Tooth washer

bracket for terminal block
driver

Insulating paper

terminal

cable ear d10+yellow/green grounding cab

210 spring washer
M10 nut
bracket

M4 screw



